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Corporation Tax

Corporation Tax is a tax on a company's taxable profit, which is defined as :-

I Operating Profit Before Interest & Tax -I

Taxable Profit = Gross Profit - Overheads =  Capital Allowances

Capital Allowances are acquired by investing in the company’s capital base, and are calculated
on a ‘written down’ basis.

If the company makes a operating loss before interest and tax, no corporation tax is paid, and any
capital allowances are carried forward to future periods.



Corporation Tax

¥ Industry parameters

FINANCE OVERHEADS PROCUREMENT JOB PROGRESSION

CASH ACCOUNT Credit rate; 2 % per annum
Qwverdraft rake; 6.6 % per annum
Owerdraft it B00,000

CAPITAL BASE Increase limited bo; B % thiz period
Sold off lirmited to; 20 % thiz period

Depreciation rate; 2.5 % per annum

Capital writing dowr; 25 & per annum

INVESTMENTS  Restrictions
There cannot be more than, & investmentz at any point in time
For each investment the masirmum increasze in the investment iz imited to;.- 100000 each period

Benefitz for jobs in progreszs
& minimum amount of; 200000 needs to have been invested to obtain any benefitz for jobs in progressz

For investments that deliver build cost reductionz, once the minimurn amount hasz been invested to obtain

benefitz, and depending upon how much haz been invested, the build cozt reductions are between: 0.3and05%

For investments that provide risk management services, once the minimum amount has been invested to obtain benefits, 20 and 40 %
and depending upon how much hasz been investment, for nizks that strike the rizk cost reductions are bebween; an =

job delay reductions are bebween; 25 and 30 X
Ceaze trading

If an investment company ceases rading, the amount invested recovered is between: 25 and 85 &

MISCELLANEOUS Cost of the management conzultants report; 10,000 each penod
Corporation tax rate: 20 E

Fized for all periods
Can vary each period

The current corporation tax and capital writing down rates are shown in the Industry parameters.



Corporation Tax

¥ Financial Performance Navigate to "Main menu/Measuring performance/Assessing performance/Financial analysis"

Management consultants report  Graphical analysis

OPERATIOMNAL SHAREHOLDERS INWESTMENTS
Azzetz and liabilities
Shareholders
Het -
Gross GP %| Overhead| OVH % of . NOP % Share | Dividend| Company Forward| Forward
Per | Status Yearigtr | Totalvalue| Total cost profit cost costs cost operl;irt:;_ﬂ cost price| % cost value| workload margin
1 |History [ 2023 [31) 1] 1] 1] 34,030 -30,580 093 | 4844420 1] 1
2 |History [2023 (32) 1] 1] 1] 24,000 80,522 1.06 | 4646054 21,681,700 937,916
3 |History [2023(03)| 7880711 7.402259 477.852 B5 % 169,720 23% 237,924 2% 1.05 1.4% 4,754,218 20,973,480 a03,138
4 |Hiztory [2023 [04) | 12,720,600 12,292,440 427161 I5% 155,000 1.3% 213947 1.7 % 1.04 0.9% 4852965 20,83 500 q05,453
PERIOD 4 CLICK OM A LIME IN THE THE SUMMARY ABOYE TO SHOW THE PERIOD DETAILS
JOB PERFORMANCE COMPANY PERFORMAMCE FUTURE OUTLOOK
Measured value: 12,834,570 ll [lezz) Overheads: 155,000 ll [1.3 % aof job costs] Formard workload: 20,831 500 il
E arly completion barns: I} Grozs operating profit: 272161 Farward margin: 905458
[lezz] Retention held: 131220 ll [lezz] Corparation tas: G0.668 m
Retention repaid: 17.253 ll [pluz] Credit intergst: 2454
Tatal walue: 12720600 [lezz] Owerdraft interest: I}
[lesz] Cosztz: 12,293,440 ll Het operating profit: 2138947 1

Gross profit: 427161 (3.5 % of job costz]

Consider the following example where a company is in period 5, and the Financial Details are being reviewed for period 4.
For Period 4 we can see that the company’s Gross Operating Profit (before tax & interest) was 272,161.
The Gross Operating Profit was then subject to Corporation Tax of 60,668. How was this calculated ?

We can use the drill-down to investigate further.




Corporation Tax

§} Corporation Tax Analysis for Period 4 - 10| x|

Grogz profit; 427 161
[lezs] Owerheads: 155,000
Operating profit before interest & tas: 272161

[lesz] Capital allowances: 29491 a7
T axable profit: 242 670
Corporation kax rate; 2 E
Corporation tax paid: E0.EES

During period 4 a Corporation tax rate of 25% was levied on the taxable profit of 242,670 to give Corporation Tax of 60,668.
The tax burden was offset by the Capital Allowances of 29,491.

Capital Allowances are acquired by investing in the company’s infrastructure (capital base), and are calculated on a ‘written
down’ basis; the rate of writing down allowances is given in the Industry parameters.

We can use the drill-down to see exactly how the 29,491 was calculated.




Corporation Tax

l'ﬁ Corporation Tax Analysis for Period 4 - | I:Ilﬂ

Grogz profit; 427 161
[lesz] Overheads: 155,000
Operating profit before interest & taw: 272161

[lesz] Capital allmwances: 29497 o Capital allowancesz are only uzed when the operating profit before interest & tax iz > 0
Tavableproft: 202670
Corporation tax rate; 2hE . . .

Corporation tax paid: BO.EE3 m“h{,:.,‘:p,:t;l ) ) mﬁ:ﬂ:ﬁ: Capital Oper Profit Capital m“h{,:.,‘:p,:t;l
. N Period Period . allowance Before N

Period written off Additions| Reductions St.'“ to be rate (% per Interest & Allowance|  written ﬂﬁ

at start of written off annum) Tax Used carried

period after period foreard

1 1] 1] 1] 1] 28 % -34.080 1] 1]

2 1] 1] 1] 1] 28 % -84.000 1] 1]

3 1] 237003 1] 237003 28 % 303,132 14,813 222,196

4 222,196 245,660 1] 471,856 28 % 272161 23,49 442 365

The Capital Allowances to be written off is adjusted each period as follows :-

» |Increased/reduced by changes in the company’s capital base

» Reduced by using up capital allowances that are written off by 25% per annum (6.25% per period)
Capital allowances are not used if an operating loss is made.

In period 4 an operating profit before interest & tax of 272,161 was made, and as a result capital allowances were used.

These amounted to 6.25% of 471,856, the amount still to be written off, giving a capital allowance figure of 29,491.



